Pneumatic Cylinders KE!'MB

1SO6432 Mountings

Tech Sheet
3004

Tech Sheet
3008

Rear Hinge Mounting SDB

@ Piston Rod Floating Joint F

FKABSDS 8110 sso. | [o334 §3 £]
F-KA125DB 12/16 7.65

F-KA20SDB 20/25 8.05 F-M08125F 20 M8 x 1.25 22.20
F-KA325DB 32 8.75 F-M10125F 25/32 M10x1.25 26.55

F-KA40SDB 40 9.50 F-M12125F 40 M12x1.25 23.80

Tech Sheet Tech Sheet
3005 3009

(%]
U
=
©
S
>
(V)
c
(a
z
p=
=
o
N4
7o)

Hydraulics

Hydraulic
Quick Release
Couplings

Pneumatic
Quick Release
Couplings

Foot Mounting LB, (pair)

&=

AirPrep,,

. . . Media, Monitor
@ Piston Rod Universal Joint U &Test

o san | s §3 £ -
F-KA12LB 12/16 4.40
F-KA20LB 20/25 5.50 F-M04070U 8/10 M4 x 0.7 10.75 | Pneumatic
F-KA32LB 32 7.80 | F-M06100U 12/16 M6 x 1 9.50 | Hacuum
F-KA40LB 40 9.60 F-M08125U 20 M8 x 1.25 11.60

F-M10125U 25/32 M10x 1.25 14.10

Valves

F-M12125U 40 M12x1.25 16.65

Tech Sheet
3006

Ring Main

Reed Switches to suit 1IS06432 e

Adaptors

Tech Sheet &Fittings
3010 =

Stainless
Steel

Piston Rod Clevis Y

&=

Hi

:V!alleable
ron
F-M04070YE 8/10 M4 x0.7 5.55
F-M06100YE 12/16 M6 x 1 6.80 Hose,
F-M08125YE 20 M8 x 1.25 8.30 Coupﬁngs
F-M1025YE 25/32 M10x1.25 9.90
Clamps
&Cli
Tech Sheet e
3007 Szvhays_&
Two Wire, N/O with LED Adhesies
Blow Guns,
B
Nozzles
Piston Rod Clevis | CS1-M-8 8 5-240V AC/DC 30.35 | Pressure Wash,
CS1-M-10 10 5-240V AC/DC 3035 | [lingt
l @ @ CS1-M-12 12 5-240V AC/DC 3035 ————
CS1-M-16 16 5-240V AC/DC 3035 | griosk
F-M06100II 12/16 M6 x 1 555 | CS1-M-20 20 5-240V AC/DC 30.35 | Equipment
F-M081251 20 M8 x 1.25 6.10 | Cs1-M-25 25 5-240V AC/DC 3035 (oo
F-M10125l1 25/32 M10x1.25 760 | CS1-M-32 32 5-240V AC/DC 30.35 | Hordware
F-M12125l1 40 M12x1.25 9.90 | CS1-M-40 40 5-240V AC/DC 30.35 | &PPE

HYDRAQUIP 597

HOSEEAHYDRAULICS
www.hydraquip.co.uk



